expr = abs(A-B-C+1 +x(C+1)) —xBtD + 4;

ABCH+1+x" 1T =FT1+4

@
expr2 = subs({A=0,B=0,C=0}, expr);#smo f(x) moeco sapuanma
[1+x —x 2)
1) f(x)
S = unapply(expr2, x);
x—|1 +x —x A3)
f(-1)
1 C))
2) f(x)
plot(f(x),x=-5.5,y=0.5, title= expr2, labels =[x, y], color =red, thickness=3);
|1 +x —x
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3) f(x) =2, f(x) =0, f(x) =-2
frolve( f(x) =2, x);
-1.500000000
fsolve( f(x) =2, x, complex);

S))
-1.500000000
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foolve( f(x) =0, x);

fsolve(|1 +x] —x=0,x) @)
fsolve( f(x) =0, x, complex);
fsolve(|1 + x| —x=0, x, complex) )
Ssolve(f(x) =-2,x);
fsolve(|1 +x] —x=-2,x) ()]
fsolve( f(x) = -2, x, complex);
fsolve(|1 +x| —x= -2, x, complex) 10)

plot([ f(x), 1,0, -1], x=-20..50, color = [red, yellow, blue, green], linestyle= [ solid, dash, solid],
legend=[f(x), 1,0, -1], labels = [x, y]);
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expr3 := piecewise(x < B — 1, limit(expr,x=B—1),B—1 <xandx < C + 5, expr, C +5 <,
limit (expr,x=C +5));



lién | (|ABC+1+xC+1|—xB+1+A) x<B-—1
x—B —
|ABC+1—|—xC+1|—xB+1+A B—1<xand x<C+5 an$
lim _ ([ABC+1+x"T =¥ +4) C+5<x
x—>C+5
exprd = subs({A=0,B=0,C=0}, expr3) :
a=B—2:b:=A+B+C+6:
g = unapply(exprd, x) :
al = subs(B=0,a) :
bl = subs({A=0,B=0,C=0},b) :
g(x);
1 x < -1
[I+x—x -1<xandx <5 (12)
1 5<x

plot([ f(x),g(x)],x=al ..bl, linestyle= [solid, dash], color = [ black, green], legend= [f(x),
g(x)1);
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F— T S R S
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1 x< -1
— |1 +x —x 14+x—x -1<xandx<5
1 5<x

with( plots) :



Loading plots

animate(plot, [ [ f(x) +4,g(x) +A4],x=al ..bl , linestyle = [solid, dash], color = [ black, green]], A

=1.3);
A=3.0000
6,
5,
__44_______________
3,
S

expr6 := subs({A=0,C=0}, expr);
1+ x| — Bl

expr7 = subs({A=0,C=0}, expr3);

lim (1 +x|—xB+1) x<B-—1
x—B—1
|1-1—x|—de|—1 B—1<xand x <5
: B+1
klg]s (11 +x —x ) 5<x
bl == subs({A=0, C=0},b);
6+8B
a; f = unapply(expro6, x, B);
B—-2

(x, B) =1 + x| — Bl

g = unapply(expr7, x, B);

13)

(14)
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(16)



BHOW(B=D p_ | <yandx <5, 1+x—"L5 a7

(x, B) —>piecewise(x <B—1,|B — el
<x6—55")

animate(plot, [[ f(x,B),g(x,B)l,x=a..bl,y=-100..50, linestyle= [solid, dash], color = [ black,
green]], B=-5.5);
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